EAGRAROBREERT — 2 N— ABISH —F 2020528248 (R) 16m=%15H

m B—2 B #5%—## ECE I
[A&4£] 1 7 :600,000  ~ 23%&:210,000  ~ 33#&:120,000 @ ~ 4 3#&:90,000 . 5 & :60,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. N MAHIES] :31. -1-1- . — MBI (SH)
11812 T>F v TN—1N— "7 56.0 1(:2)4 -t 3.3 ¢ 5_351) 7!(%’1,\\?— .
L:271)—>e—0— B:EI>bMN—/N— HIARXZy b
N . FREER :31. == . — TEEET (5H)
N . BERC AT e L I Y o sz
x> dnq4O— BNy ZILX—Jb EBEH%ES
o= . Lk GIN . -9-9- - KEZER (FH)
sl7lg| 75> b a— 410 an 1.(352>.6 9-9-9-5 |38.6 9 ;1_740) E%Eﬁ
Z:yA7%x BEXT70O9TX HET7—L
o = R > e+ E2 3R : 54— — BEEX (FH)
AR ESZE D w2 T | 2 (11.312/.29) 5-5-4-3 | 40.2 3 ;1_510) T
L:xoovH/xtx BN — J =Y Ty —L
RN .o H 6 | ARER 1:33.1 8-8-7-4 [39.9| — 12 | 482 |#IIEE FH)
N I 5.0 @) o | BEER
LNn—ErTv— Bio1rTaEY— HE ik
5 49 | EEEA 1:33.4 7-7-8-6 | 40.2| — 1 529 | EEEE (SH)
618[11| 77—V v 10O 56.0 (1 1/2) -5) RthE—
R:N—Y9514 B:LTF1E—F HH xFHF
. RISE . _10_10_ — HAhiE= (5H0)
; NET =N > 9| BEN 1.(32?3.8 12-12-12-12| 39.1 8 (5_272) ESin
R:w>NnNy&rh7r B:F71>bLTI J—=HrTp—L
- N . IRTIRTIR — HesE (SH)
8 PREVAVAE =S 38 H o7 ok 1(.13/32.)9 11-11-11-10 39.3 6 (5_717) am;%ﬁ
LNRVTSY BA-L2YT R 4%
= . # o7 | EREHR 1:34.2 4-4-5-9 |41.4| — 7 505 | BB (BA)
9|7[10| T=HLYY 8.0 1 172) o | @ 7yash
RN—VFINSyva B:¥yROVIS g IE
LS — 4 6 | AHENRE 1:34.3 10-10-10-11| 40.1 | — 10 | 520 |#IIEE (&)
10515 hL79=— ¥¢55.0 (7€) (o) | BEHEH
RWN—5—2y T BELIAYFITI9 IR J—HTr—LA
R B 5 | WiskES 1:34.4 3-3-3-7 |41.9| - 5 514 | ARAEER (BH)
1156 |J2vE> 54.0 (1/2) (1) |BEENS
L:hzxkeFx) B:INEIN—L FES S
- P : 60 - HREK (B5)
12 713w R7ILTF 14> 6 26*6 = 1(/?4;_;1 6-6-6-8 | 41.4 2 (4_725) RBALE ()
LZAR=3>Fh—L BRFASTLAYY ﬁBE’-#i ’r'rx
@ 1—F—@&BIEf
12—74— 12,2,6,10,1,7,11,3,9,5,4,8
20—7— 12,2,6,10,1,7,11,3,9,5,4,8
30—7+— 12,2,6,1,10,7,3,11,9,5,4,8
40 —F— 12,2,1,3,9,11,6,7,10,4,5,8
[ RN
B OB 12 840H 714K 2-12 340M e & 2-8 910M 3ER 2-9-12 6,760
1 B 12 240M 9-12 2,830 B & 2-12 800M JEH 12-2-9 41,730
2 120 2-9 1,270 B H 12-2 2,510
9 590M

ABTICOVWTRHDBTERERRODDE, JTHERLE,



